
 

Task 1 – Work out the value of each of the 
following. 
 

1) 16
భ

మ = 𝟒 

2) 4
భ

మ = 𝟐 

3) 8
భ

య = 𝟐 

4) 64
భ

య = 𝟒 

5) 27
భ

య = 𝟑 

6) 125
భ

య = 𝟓 

7) 16
భ

ర = 𝟐 

8) 27
మ

య = ቀ27
భ

యቁ
ଶ

= 3ଶ = 𝟗 

9) 8
ఱ

య = ቀ8
భ

యቁ
ହ

= 2ହ = 𝟑𝟐 

10) 9
య

మ = ቀ9
భ

మቁ
ଷ

= 3ଷ = 𝟐𝟕 

11) 216
మ

య = ቀ216
భ

యቁ
ଶ

= 6ଶ = 𝟑𝟔 

12) 36
య

మ = ቀ36
భ

మቁ
ଷ

= 6ଷ = 𝟐𝟏𝟔 

13) 1000
మ

య = ቀ1000
భ

యቁ
ଶ

= 10ଶ = 𝟏𝟎𝟎 

14) ቀ ଼

ଶ଻
ቁ

మ

య
= ቆ

଼

ଶ଻

 
భ

యቇ

ଶ

= ቀ
ଶ

ଷ
ቁ

ଶ
=

𝟒

𝟗
 

15) ቀଶହ

ଷ଺
ቁ

య

మ
= ቆ

ଶହ

ଷ଺

 
భ

మቇ

ଷ

= ቀ
ହ

଺
ቁ

ଷ
=

𝟏𝟐𝟓

𝟐𝟏𝟔
 

16) ቀସଽ

଼ଵ
ቁ

య

మ
= ቆ

ସଽ

଼ଵ

 
భ

మቇ

ଷ

= ቀ
଻

ଽ
ቁ

ଷ
=

𝟑𝟒𝟑

𝟕𝟐𝟗
 

17) ቀ଼ଵ

ଵ଺
ቁ

య

ర
= ቆ

଼ଵ

ଵ଺

 
భ

రቇ

ଷ

= ቀ
ଷ

ଶ
ቁ

ଷ
=

𝟐𝟕

𝟖
 

Task 2 – Work out the value of each of the 
following. 
 
18) 4ିଵ = 𝟏

𝟒
 

19) 6ିଵ = 𝟏

𝟔
 

20) 3ିଶ = 𝟏

𝟗
 

21) 2ିସ =
𝟏

𝟏𝟔
 

22) 3ିଷ =
𝟏

𝟐𝟕
 

23) 5଴ = 𝟏 

24) ቀଵ

ସ
ቁ

ିଵ
= 𝟒 

25) 8ିଶ =
𝟏

𝟔𝟒
 

26) ቀଵ

଺
ቁ

ିଶ
= 𝟑𝟔 

27) ቀଵ

ଷ
ቁ

ିଵ
= 𝟑 

28)  ቀଵ

ସ
ቁ

ିଶ
= 𝟏𝟔 

29) 𝑎ିସ =
𝟏

𝒂𝟒 

30)  ቀଶ

ହ
ቁ

ିଵ
=

𝟓

𝟐
 

31)  ቀଷ

ସ
ቁ

ିଷ
=

𝟔𝟒

𝟐𝟕
 

32) ቀସ

ଷ
ቁ

ିଶ
=

𝟗

𝟏𝟔
 

33) ቀଵ

ହ
ቁ

ିଷ
= 𝟏𝟐𝟓 

34) ቀ ଻

ଵଵ
ቁ

ିଶ
=

𝟏𝟐𝟏

𝟒𝟗
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Task 3 – Work out the value of each of the 
following. 

35) 16ି
భ

మ =  ቀ
ଵ

ଵ଺
ቁ

భ

మ
=

𝟏

𝟒
 

36) 81ି
భ

ర =  ቀ
ଵ

଼ଵ
ቁ

భ

ర
=

𝟏

𝟑
 

37) 4ି
భ

మ =  ቀ
ଵ

ସ
ቁ

భ

మ
=

𝟏

𝟐
 

38) 64ି
య

మ =  ቆ
ଵ

଺ସ

 
భ

మቇ

ଷ

= ቀ
ଵ

଼
ቁ

ଷ
=

𝟏

𝟓𝟏𝟐
 

39) 25ି
య

మ =  ቆ
ଵ

ଶହ

 
భ

మቇ

ଷ

= ቀ
ଵ

ହ
ቁ

ଷ
=

𝟏

𝟏𝟐𝟓
 

40) 4ି
ఱ

మ = ቆ
ଵ

ସ

 
భ

మቇ

ହ

= ቀ
ଵ

ଶ
ቁ

ହ
=

𝟏

𝟑𝟐
 

41) 9ି
య

మ = ቆ
ଵ

ଽ

 
భ

మቇ

ଷ

= ቀ
ଵ

ଷ
ቁ

ଷ
=

𝟏

𝟐𝟕
 

42) ቀ ଵ

ଵ଺
ቁ

ି
భ

మ
=  16

భ

మ = 𝟒 

43) ቀ ଵ

ଵଶହ
ቁ

ି
భ

య
=  125

భ

య = 𝟓 

44) ቀଶ଻

଺ସ
ቁ

ି
భ

య
=  ቀ

଺ସ

ଶ଻
ቁ

భ

య
=

𝟒

𝟑
 

45) ቀ଼ଵ

ଵ଺
ቁ

ି
భ

ర
=  ቀ

ଵ଺

଼ଵ
ቁ

భ

ర
=

𝟐

𝟑
 

46) ቀ ଼

ଶ଻
ቁ

ି
మ

య
=  ቀ

ଶ଻

଼
ቁ

మ

య
= ቆ

ଶ଻

଼

 
భ

యቇ

ଶ

=
𝟗

𝟒
 

47) ቀଵ଺

ଶହ
ቁ

ି
య

మ
=  ቀ

ଶହ

ଵ଺
ቁ

య

మ
= ቆ

ଶହ

ଵ଺

 
భ

మቇ

ଷ

=
𝟏𝟐𝟓

𝟔𝟒
 

48) ቀଶ଻

଺ସ
ቁ

ି
ర

య
=  ቀ

଺ସ

ଶ଻
ቁ

ర

య
= ቆ

଺ସ

ଶ଻

 
భ

యቇ

ସ

=
𝟐𝟓𝟔

𝟖𝟏
 

49)  ቀଵ଺

ସଽ
ቁ

ି
య

మ
=  ቀ

ସଽ

ଵ଺
ቁ

య

మ
= ቆ

ସଽ

ଵ଺

 
భ

మቇ

ଷ

=
𝟑𝟒𝟑

𝟔𝟒
 

50) ቀଶହ

ଽ
ቁ

ି
య

మ
=  ቀ

ଽ

ଶହ
ቁ

య

మ
= ቆ

ଽ

ଶହ

 
భ

మቇ

ଷ

=
𝟐𝟕

𝟏𝟐𝟓
  

 

Challenge 

51) Work out the value of  

8
ଶ
ଷ + 25

ଵ
ଶ 

= 4 + 5 

= 𝟗 

52) Work out the value of 

25ି
ଵ
ଶ × 40 

=
1

5
× 40 

= 𝟖 

 
53) Work out the value of 

4
ଷ
ଶ ÷ 8ଶ 

= 8 ÷ 64 

=
𝟏

𝟖
 

54) Fully simplify 

(16𝑥ଶ)
ଵ
ଶ 

= 𝟒𝒙 

55) Fully simplify 

(25𝑦଼)
ଵ
ଶ 

= 𝟓𝒚𝟒 

56) Fully simplify  

(64𝑚ଷ)
ଶ
ଷ 

= (4𝑚)ଶ 

= 𝟏𝟔𝒎𝟐 

57) Fully simplify 

(243𝑢ଵ଴)ି
ଷ
ହ 

= ቌ
1

243𝑢ଵ଴

 
ଵ
ହ

ቍ

ଷ

 

= ൬
1

3𝑢ଶ
൰

ଷ

 

=
𝟏

𝟐𝟕𝒖𝟔
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58) Work out the value of √3 × 27 × 10ସ଴ర

. 
     Give your answer in standard form. 

ඥ81 × 10ସ଴ర  

= 𝟑 × 𝟏𝟎𝟏𝟎 

 

59) Work out the value of √3ଶ × 9 × 9 × 10ଶଵయ
. 

ඥ729 × 10ଶଵయ  

= 9 × 10଻ 

= 𝟗𝟎, 𝟎𝟎𝟎, 𝟎𝟎𝟎 

 

60) Given that 5 × √5 = 5௫, work out the value of 
𝑥. 

5ଵ × 5
ଵ
ଶ = 5

ଷ
ଶ 

𝒙 =
𝟑

𝟐
 

 

61) Given that 2ି௡ = 0.4, work out the value of 
    (2௡)଺. 

2௡ =
1

0.4
=

5

2
 

(2௡)଺ = ൬
5

2
൰

଺

=
𝟏𝟓𝟔𝟐𝟓

𝟔𝟒
 

 

62) Given that ቀ଺ସ

ଶ଻
ቁ

௠
=

ଽ

ଵ଺
 , work out the value of 

     𝑚. 

𝒎 = −
𝟐

𝟑
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